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41) . (can/ park)
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37) A: Who helped Mina to clean the house? 38) A: Can I park here?
B: Nobody, she 4 B: No, you
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47) Some (childs/ childrens/ children) eat too much fast food these days.
48) Unfortunately, he (didn’t remember/ wasn’t remembering/ didn’t remembering) my name.
49) I bought this shirt yesterday. What (are you thinking/ do you think/ you are thinking)?
50) If you don’t study (hard/ hardly/ hardest), you can’t pass the exam.

() oSSl b5 w30 (S jlwdnnds gl (y9031)
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Mr. (53) (Amini / amini) is a postman. He has two (54) (childs / children). He works on Azadi 8
Street. Every morning, he rides his motorcycle to work (55) (carefully / careful). But, his old
motorcycle is not very (56) (good / well) and sometimes doesn’t start. There are two (57) (buses
stop / bus stops) near his house. so he can take a bus when he (58) (needs / is needing) it.
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Verb | Noun Adjective
(L) Y — knowledge
attract L
(1) Jes—— choice
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Mrs. Sharifi is our teacher. She talks about different subjects in the classroom. She has a lot of
knowledge about them. She usually talks about wonders of creation. She believes that Allah has
created all of them.

v noun verb adjective adverb \$

59 — 60
) |

noun adverb
62

verb adjective

|

61
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26) He watches funny movies for his entertainment. a) to go and get someone or something
27) Red blood cells collect carbon dioxide from body parts. | b) not dangerous
28) When you keep nature safe, animals will live longer. ¢) activities that people enjoy
d) to move someone or something

() oSSl (35 30 ol slwdanid 2ol (03T
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21) I studied hard for the exam instead of going to | a) to protect someone or something from
the party. danger
Y 22) The brave soldiers defend our country. b) a set of similar things ?

23) We can help you solve the puzzle. c) activities that people enjoy

24) She plays the guitar for her entertainment. d) in place of someone or something else

¢) to find an answer to a problem
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What is the solar system? It includes our Sun and eight main planets: Mercury, Venus, Earth, Mars, Jupiter,
Saturn, Uranus and Neptune. All of the planets in the solar system orbit the Sun. Mercury, Venus, Earth
and Mars are called ‘terrestrial planets’. They are mostly made of rock and metal. Jupiter, Saturn, Uranus
and Neptune are called ‘gas giants’. They are mostly composed of gas and they have rings. The smallest
planet is Mercury and the biggest is Jupiter. Neptune is the coldest and Venus is the hottest planet.

Moons travel around planets. Earth has got just one moon, but there are at least 150 moons in our solar
system. Jupiter and Saturn are the planets with the most - 53 confirmed moons each! Mercury and Venus
have no moons at all.

Stars are big balls of very hot gas. Our closest star is the Sun, and it’s 150 million km away from planet
Earth! Without the Sun’s energy, there would be no life on Earth.

% True/False?

5§5) There are less than 150 moons in the solar system. True False

56) The biggest planet is made of rock and metal. True False

+ Choose the best answer.

57) The underlined word orbit in the first paragraph is closest in meaning to ----------- .

a) build b) go around ¢) give up d) light
58) Which of the followings is not made from gas?
a) Jupiter b) Venus ¢) Saturn d) Uranus

%+ Answer the following questions.
59) What are stars?
60) Name the hottest and the coldest planet in the solar system.

(1) oSSl (35 30 (ol slwdanid 2ol (yg03])
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The solar system is about 4.5 billion years old! But what exactly is the solar system? It consists of
the sun and other eight planets: Mercury, Venus, Earth, Mars, Jupiter, Saturn, Uranus, and Neptune.
All of the planets in the solar system orbit the sun.

Mercury, Venus, Earth, and Mars are made of rock and metal. Jupiter, Saturn, Uranus, and
Neptune are made of gas, and some have moons. Mercury is the smallest, and Jupiter is the largest.
Neptune is the coldest, and Venus is the hottest planet. Moons travel around the planets. Earth has
just one moon. There are 150 moons in the solar system. Jupiter and Saturn are the planets with the
most moons. Mercury and Venus have no moons at all. The closest star to the Earth is Sun, and it is
150 million kilometers away from the Earth! Without the energy from the Sun, there would be no
life on Earth.

% True/ False

43) Venus is the hottest planet in the solar system. a) True b) False

44) All of the planets in the solar system travel around the moon. a) True b) False
+* Choose the best answer.

45) How many moons are there in the solar system?

a) 15 b) 105 ¢) 50 d) 150
46) Which planet is NOT rocky?
a) Mars b) Earth ¢) Neptune d) Mercury

+* Write a complete answer.

47) Which planets have the most moons and which ones don’t have any moons?
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